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Compression:

residuals from fit: 20xalog10(rmsCounts)

vs rmsCounts beamO

obcmdA Lob

<

i

andB HibandA HibandB

L

200 400 600

A/D rms counts

800

(@]

200 400 600

A/D rms counts

beam?2

(@]

200 400 600

A/D rms counts

beamd

800

(@]

200 400 600

A/D rms counts

800

(@]



Compression [db] Compression [db]

Compression [db]

N

I I I
(& N - o

© H\\H\H‘\\H\\H\‘H\\H\H‘HHHH\‘HHHH\

|
~

N

I I I
(& N - o

|
~

N

I I I
(& N - o

© H\\H\H‘\\H\\H\‘H\\H\H‘HHHH\‘HHHH\

|
~

beam4

LobcmdA LobandB HibandA HibandB

B " N
P e

PR

/
/

200 400 600
A/D rms counts

beamb

800

(@]

/
\\\\\\\\\‘\\\\\\\\\‘\\\\\HH‘\HHHH‘\HHHH

© HHHH\‘HHHH\‘HH\HH‘\HHHH‘\HHHH
Vv

200 400 600
A/D rms counts

beamb

800

(@]

200 400 600
A/D rms counts

800



